
2. Define 'Demancl forecasting' ancl explain various methods of forecasting denland lor
U0l

consumer goods' 
oR

3.a) What is the natnre of tranagerial econotrics?
- 

;; What are the types o1 ciemancl elasticity'?

4.a)Wlratclorotrttltderstarrdbl..prodttctionlurrctiorr.arrdgireitsclassitrcatiorr?
b) What are external ."o,-,o,-,,i.r'to scale? I-ioli'do theyl,flLrence the average cost of a

l5-51
Product? OR

5.a)AcompanymakingsingieprociucthasPVratioof40%oandmargirrolsal'ct1'of30%'ll
the volur.ne of the sale fbr,L,. p,loar., is lls'14,00'000, determine break-il'en point arrd

the profit. [5+51
b) What are the assurnptions ol'breakeven theory'/

:..,1 ,

'-. -./ |

'''1:" 
).:

t "'' Ti',i,16Jioro" NEHRU rEcH N o Lo crcAl uNrvE RS IrY HYDEILAB AI)

B.Tech III Year II Semester Examinations' Deccmber - 2018

MANAGERIAL Eeoxortqcq- flDiINAN-c'llL 
ANALYSIS 

:

' ' (Comrnon to IICE' CSE' ETM' NINIT)
.1 i .....r ': : r, ,:l -: 

" -.1 
, MtfX, MafkS: 75

' ' - i' '. Tirne: 3''iroufsi' ' ' '

Note: Tl-ris question paper contains two parts A and B'

part A is conipulsory *n,.n .rrri.r 25 marks. Answer all questions in Part A' Part B

consistsof5Units.an,*o,unv"'.n'rrqLrestionfrotleachrrnit,Eaclrquestiot,tcart.ies
10 marks and may have a' b' c as sub qLtesttons'
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l.a)WhatisaDemandscheduleandrvhatisitspr-rrpose?l2l
b) whi;h;;;he different oir.,,ptir.r rvith r,vhich Managerial Economics is related? [3]

c) What are semi variable costs? Illustrate' 
,-,.^-, 

- 
121

d) What is angle of incidencJ What is its signif-rcance? l3l

e) U'llai is Ouipoty qarltet condition? 
'.21

, , , : 0 uow d,g the voting rigl-,,r;f ;:;rb*,, of .ooperative.society differ. from that of 
i:1' '

' g) il:Itirt:'JffirtJJ,',,,,,r* cash fiorv approacrr difrererrt lrom discourrtirrg cash llor^'

l2l

h) ilTlif,i the sources of capital rbr acqLriring fixed assets? i3l

i) o.tln.loi'idencl yielcl' :""-' . 
'- 

^,".^'^^^^, 
l2)

j) What are the obiectives of preparing a Trial Balance? t3l

(50 Marks)

[5+5]

6.

7.a)

:, tt,l

What are the various documents

each of them verY brieflY'

needed for startirrg a public lirnitecl compatrv? Explain

u0l

[5*5], 
,
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8.a)

b)

Explain the teru cotnpletrenl'fy ull9 mutually exclusive projects'

Caiculate the present value of Rs' 15'00'000

i) Received 3 Years from nor'v'

iil-n.r.ir.a in instalhnents of Rs'5'00'000 at the end of every year'

:-., oR

9.e)Wliataccordlllgtoyotlarr-,tlrelirrtitatiortsolcapitalbudgcting?
b) A rnachinery.!qrii., initial^in,,estment of Rs.)8.00,000' It generates annual cash flow

of Rs.12,00.000, Rs,g,00,000, nr.d,oo,ooo and Rs.6,00,000 fbr the next four )'ears' The

annual o.pr..iuiio, rare is 25%. i;r;"rate the payback period. f 5+51

10.a)Wha!arethevarioustvpesofledgeraccotlntsandtherulesgoverrringtherl?
b) Exptain,the o;;"il;-'i"t. r"lL*.ji;;r.p.re fi,al accoiuirs *,ith rhe hetp o1'a valid

" trial balance. 
'l-* '- r I 

f5+51

OR

1l.a)Acorlpanytrasapolici,of.n-raintainingallaxitrrultldebttoeqLlityratioof2.2:l.Tlre
company has equity capital or zo,oooihares paid Lrp at Rs.100 face valLre and I00%

preference ,rrur", or nr.i00 eactr iully sLrbscrited to the extent of 10'000 shares' The

Company rrurllo o, its bool<s 200 ( I 2Vt) nott convrertible debentures of Rs' 1 000 each'

. The po[pany has secured 1"'S"tii' 
"io";t 

of Rs'5'00'000' Ho''v mr;ch tnore the

Is+r]

' ''ai" 
as its loln?

b) i;i]Triiyr"Jlundersrarrct by the rerm' acco,rting cvcre'? Exprai^. [s+5]
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